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l “ m ””[ “ " 2 (A) State and prove De' Alembert Ratip ¢
' GCP-1224  SearXo OR
(A) State and prove Cauchy Root Tegt

€st

B. Sc. (Sem. ID Examination
Aprl / May - 2017 B)
VMathemartiecs : CC MAT - 122

Attempt any two :

(1) It (a=b)" =m™™ then proye thy

.. 3 Zoums] [Total Marks : 70 2lm—l(ﬁ\l
. _" - a.
:ome - 1 All questions are compulsory. X ( 2 2)
ructions (- 2 N logla“+h
5\ Ficures to the right indicates the _ - 5
' arks of s ing question. = = »
marks of the corresponding ques 3 3 (2) Discuss the convergence
(A Stzze znd provz D& Moivre's theorem. 7 %‘T %: 1_+_1_1 .
4 47 710 7
OR " E E
It is anv positive integer en = >
@ Ir g is any pos ° & & (3) Prove that Sin}:_lszlggf{:.*.‘/:z_'_lJ
N i nt g g \
[COSe-.‘SLﬂe);"Q has q and Oﬂ.l}' q dlffere % g_. ‘
value. 8 & 3 (A) Prove in usual notation
(B) Attempt any two ! 8- (g § 1 Sinax ! g
. . = ——=3Sinax, f(a
(1) Prove that ,f’(!)z) 'f(kGZJ f(a)=0
N4
cq-ising ) ) .
(_CSEEE_)S—:SIQ(-IQ+5ﬁ)—IOOS(4U.+5ﬂ)_ OR
(sinp—icosB) (A) Define linear differentia) €Quation and write
(2) Prove that the method of solving jt.
5070 _7_56sin20-+112sin® - 64sin®o (B Solve any two differential equatqy,q
sin® . (N (/)3+/)2~1)7I)_1-:c052x
1 .
(3) If 2cos@=x+— then prove that 4
X (2) y+pr=xpo
2cosr9=x’+_l— (3) [1)44)}_:(,: cos X
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a) If A and B are mxn and nxp matrices ;

respectively then prove that (AB)T Y

OR

(a) Define :
() Hermitian matrix

(i) Identity matrix
(iiy) Transpose of a matrix
(iv) Symmetric matrix

: 8
Attempt any two : |
® (1) Find the rank k of matrix
3 2 0 -1
A=|1 =1 2 2| using row reduction
0 1 -3 -l
method.
(2) Solve the equation x-y+3z=l,
2x+y-z=2, x-y+2z=1.
7 6 2
@) Find A-! for the matrix A=1 4 9
31 8
Attempt any five : 10
(1) Show that arg(zl.22)=arg 7 +arg 7.
(2) If z=x+iy and z=x-1y,X,y€R are complex
1 -
conjugates then R¢(2)=5(2+2) and
) _
lm(z)=5(z—z)_
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3" n!

of 2. n °
(3) Discuss the convergence Z -

1+2+3+..+n0
Iter- 7T =

(4) Discuss the convergence Of Z p

3 2 ) =0.
6 Solve : (DP+207+2D+1)y=0-

(8 Solve : yp= wpl+a

2 3 -1
() If A=|-1 3 2| then find adjd.
2.1 2
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